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(1) From first figure to second fig-
ure the cross sign descends half
step and it remains static in the
next figure Therefore, in Answer
Figore w57 at bottom mid-
dle .position. The line segment
remains constant for the first two
figures and then moves half step
in clockwise direction. :

. (1) In each subsequent figure the

small circle moves along the side
of pentagon in anticlockwise di-
rection while the cross sign moves
in clockwise direction. In this way
Answer Figure (1) is correct.

All windows are floors

— Universal Affirmative (A -
Type).

Some doors are windows

— Particular Affirmative (I-type).
No flower is sweet

— Universal Negative (E-type).
Some flowers are not sweets

— Particular Negative (O-type).

. (4) All bottles are jars.

Some jars are bowls

A + 1= No Conclusion

. (2) Some shoes are socks.

All socks are sandals.
I+ A= I-type of Conclusion
“Some shoes are sandals.”
Conclusion Il is Converse of this
Conclusion.

All socks are sandais.

-

All sandals are trousers.

A + A= A-type of Conclusion
“All socks are trousers.”

. (4) A is the brother of B.

Therefore, A is male,

C is the father of D.
Therefore, C is a male.

E is the mother of B.
Therefore, E is a female.

A and D are brothers.
Therefore, D is a male.
Deductions

(i) A and D are brothers of B.
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(ii) C is the father of A, B and D.
(iii) C is the mother of A, B and D. _
(iv) E is the wife of C.

. (2) The letter 'H’ is not present in

the keyword. Therefore the word
CHARTER cannot be formed.

. (2) A=261.e., the position num-

ber of A from the right end or in
reverse order.
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8 + 6 + 13= 27

Position numbers from the right
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Given expression
2+6x6+2=7
After changing the signs
?=2+6+6+2
or,?=2+1+2=5
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(1) First figure
15+ 16 =22 + 9 or, 31 = 31
Second figure
13+7=11+9or, 20 =20
Third figure
21+15=?+13
or, ? = 36 - 13 = [23]
(4) First column
(7+6)x5=13x5=65
Second column
2+3)x4=5x4=20
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Third column
(4+7?)x9=45

or,4+‘?=-‘—IE =5
9

or,?=5~4=
3)
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Required distance = 10 + 14

= 24 metres

(3) From the two views of the dice
it is clear that number 4 will be
at the top when 3 is at the bot-
tom.
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(4) Some smokers may be law-
yers and vice-versa.

Some non-smokers may be law-
yers and vice-versa.

But smokers are entirely differ-
ent from the non-smokers.
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(4) The number ‘7’ is common to
the square, ellipse and triangle.
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Year

No. of vehicles | Changes

over the
previous year

2005

2.3 lakhs

2006

2.41 lakhs + 0.11

2007

2.25 lakhs - 0.16

2008

2.36 lakhs +0.11

2009

2.29 lakhs | - 0.07
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(1) It means the petrol prices
have come down.
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(24-25) : All possible represent-ations

of letters from both matrices :
Matrix-I

M= 01,

13, 20, 32,
P= 02, 14, 21, 33,
Q= 03, 10, 22, 34, 41 -

44
40

R= 00, 12, 24, 31, 43

S= 04, 11, 23, 30, 42
Matrix-Il

A= 55, 68, 76, 87, 98
E= 56, 69, 75. 88, 97
1= 57. 65, 78, 86, 99
0= 58, 67, 79, 85, 96
U= 59, 66, 77, 89, 95

24. (1)

teisl E A | R [ P
M |75 | 55 | 24 | 21
@ |97 | 87 | 12 | 24
@) | 87 |97 | 24 | 21
4) | 75 | 76 | 21| 24

25. (3)

el M| Al P s
(1) | 20 | 55 | 21 | 31
2) | 247 | 554 21 | 30
3) | 32 | 68 | 23 | 11
(4) | 20 | 68 | 21 | 31"

26. (2) Thunder is immediately fol-

lowed by rain. Similarly, dusk is
followed by night.

27. (2) 18 x2 =36 and 36 -6 = 30

28.

Therefore,
36 x2=72and 72 - 6 = 66
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1.02
—— =0.0102
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29. (4)

1 3 5 7 14 16 18 20
A CE G—>N PR T
L +13TT

+13 |

+13

+13

Similarly,

4 7 ‘10

1
A D G J—>N

14 17 20

+13 T

TTW
A

+13

+13

+13

30. (1)

31.

32.

&

37.

—

10 9 11
—>dJd L 1

A
wa ] T
+4 |
+4
+4

8 5 7
H E G

——'" o

Similarly,
16 18 15 17
P R O

20 22 19 21
Q—>T V S U

al ]
+4
+4
+4
(3) From first figure to second fig-
ure the main design rotates
through 45° clockwise and each
line segment is doubled.
(1) From first figure to second fig-
ure the left and right designs are
moving to the upper and lower
positions respectively and the
inner designs also show similar
movement.
(4) Laxmi Export Private Limited
6/12, Rampura,
Wellignton Road,
Mumbai-400001.

. (1) Vishakhapatanam

29th December, 1875
(1) Jalandhar City

16th January, 1965
(3) Neurologist is related to med-
ical profession. Others are relat-
ed to the study of social scienc-

(2)
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39. 3) »52=5+2=7
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142=31+4+2=7
=54=5+4=9
126=1+2+6=9
=56 =5+6=11
=1+1=2
1+6+8=1+6+8
=16=1+5=6
=58=5+8=13
=14+3=4

184 =>1+8+4=13
=1+3=4

. (4) The second part is one-half of

the first part.

(3) Given set

(3,7, 15)

Ist Number + 4 = 2 nd number
2nd Number + 8 = 3rd number
3+4=7and7+8=15
Option (1)
2+4=6and6+4=10
Option (2)

4+4=8and 8+ 10=18
Option (3)
5+4=9and9+8=17
Option (4)

7+5=12and 12+7 =19

(2) Figures 1, 8 and 9—two dots.
Figures 2, 3 and 5 — one dot.
Figures 4, 6 and 7 — three dots
(1) Figures 1, 4 and 6 — pots
with lids.

Figures 2, 3 and 8 — Pots with
lid having circular top.

Figures 5, 7 and 9 — Pots with
open end.

(4) The order of words accord-
ing to dictionary :

(5) each — (3) eager — (1) eagle -
(4) early — (2) earth

(3) Meaningful order

(1) Infant — (5) Child — (4) Aco-
lescent — (3) Adult — (2) Old

. (3) ABC
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